Unit 1 Chapter 5 #HEBEMBTRIT 547
Divide 7ien by 2ien OR 01114,,0/00104y6

Iteration Step Quotient|Divisor|Remainder h|Remainder 1
sl0 Rem 0000 | 0010 0011 1000
3 |Rem h=Rem h-div 0000 | 0010 0001 1000
Rem=>0:511Q 0001 | 0010 0001 1000
sl0 Rem 0001 | 0010 0011 0000
4 |Rem h=Rem h-div 0001 | 0010 0001 0000
Rem>0:sll Q 0011 | 0010 0001 0000
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Shift the remainder register to the
left, setting the new LSB to 1

Restore: Rem_h =Rem_h + divisor
Shift remainder register to left
setting new LSB to 0
j

[nitialize: Lower half of 32 rep?
Remainder register to
divided, pad upper yes

Storing Quotient in
lower half to Rem

@one: shift Rem_h right 1 bD

B

el PUTEEBMTE:

Divide 7ien bY 24en OR 01114,/001 0440

Iteration Step Divisor|Remainder h|Remainder !
0 initial values 0010 0000 0111
sl0 Rem 0010 0000 1110
Rem h=Rem h-div 0010 1110 1110
I |Rem<0:Rem h=Rem h+div| 0010 0000 1110
sl0 Rem 0010 0001 1100
Rem h=Rem h-div 0010 1111 1100
2  |Rem<0:Rem h=Rem h+div| 0010 0001 1100
sl0 Rem 0010 0011 1000
3 Rem h=Rem h-div 0010 0001 1000
Rem > 0: sl1 Rem 0010 0011 0001




